CLOPAY COACHMAN SERIES: Cnn, HCan, COnn, CFnn T)Eg 05/1ij gT/Eos == APP;ZVED ADDED WiNDOW OP?SENS;RIPLJT;Q;ATED M/N
HOLMES SETTLERS SERIES: SFnn THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE :
IDEAL AFFINITY SERIES: AD \ggqlnmlfgs%ggﬁg{ﬂgﬁlsigﬁsog ;;g ;é'?Rll)%%;saﬂkgmﬁgérO%E 07| 01/31/12 SH REVISED WIND SPEED TABLE FOR ASCE7-10Q.
L : nn MPACT RESISTAMT REQUIREMENT FOR WINGBORNS. DEBRIS 08| 08/20/12 SH REVISED FOR TDI.
NOTE: "nn” REPRESENTS THE ARRANGEMENT QF THE DECORATIVE REGIONS (REF. CHAPTERTG FBC/IBC) 08| 06/05/13 SH ADDED GLAZING SIZE
OVERLAYS. THE FIRST DIGIT WILL HAVE A VALUE FROM 1 TG 4 AND
THE SECOND DIGIT WILL HAVE A VALUE FROM 1 TO 5. ALL WINDOW OPTIONS AVAILABLE IN DSB (OR BETTER) GLASS TRACK CONFIGURATION ABOVE_DOOR CPENING DUES
MAX GLAZING SIZE: 46" x 16" Al RAT
----------- _ _ HOREZONTAL TRACK SUPPORT BY
THIS DOOR MEETS OR EXCEEDS THE DESIGN DOOR INSTALLER (TO SUM)
LOADS FOR THE WIND SPEEDS LISTED BELOW ‘
ACCORDING TO THE FLORIDA BLDG. CODE
- OR IBC {ASCE7)} FOR THE FOLLOWING
O| N " N " CONE}H:?ONS: 1} ENCLOSED BUI}LD%NG, 2) DQOR
© = = ™ = = HAS 2" OF WIDTH IN BUILDING'S END ZONE, (B ] W& ] - 13 GA. GALV. STEEL FLAG BRACKET.
— v v v 3?_ IMPORTANCE FACTOR OF 1.0, 4) ANY ROOF HEIGHT [ SECTIONS _ EACH FASTENED TO WOOD JAMB WITH
i SLOPE, AND 5) 50% SAFETY FACTOR. bk ] 72 (3) 5/16"x1~1/2" WOOD LAG SCREW.
- WIND SPEED (MPH) <100 | 110 [ 110} 120 Lot 4 2 YRACK_CONFICURATION
5 N " a - . EXPOSURE LEVEL B or C| B c 8 2 2 i . NOTE: FOR DOORS OVER
o $1 = ot ; ’ ; g gy : o] NOTE: DOUBLE TRACK 120" HIGH, TRACK
i v - - i MEAN ROOF HEIGHT] S50 50 L 155 50 (0 57 S LOW HEADROOM IS CONFIGURATION SHALL
. | ! }3 e {% z i AVAILABLE AS AN OFTION  NOT EXCEED MAXIMUM
o " e & - SPAGING PROVIDED.
S (4) #14x5/8" SHEET i 5 k2 8 " CONSULT FACTORY FOR
Z N " o o ﬂ\m% POINT LOCKING METAL SCREWS e % % L TR, . MORE ETALS IF RQD.
g ) v v 4':“-: {%_ %
== BN
D 17
S0 By 2 TYP. 2-1/2"%12 GA. GALV, STEEL TRACK BRACKET.
MAX. SECTION g MIN. (4) TRACK BRACKETS PER SIDE. DISTANCE BETWEEN
Gl ks P o HEIGHT: 247 & TRACK BRACKETS NOT TO EXCEED 30" 0.C.
____________ — (4) 1/4"x3/4" SELF \g/
. TAPPING SCREWS [
MAX DOOR WIDTH = 16'-0 14 _GA. END HINGE 4 8

INSIRE, ELEMATION
EQUIVATENT SECTION CONSTRUCTION: FOR ANY OF THE MODELS
LISTED ON THIS DRAWING, THE FOLLOWING W--LEVEL DOORS USE -
EQUIVALENT SECTIONS {UP TO THE MAXIMUM WIDTH ALLOWED ON
THIS DRAWING}.

W4, W5,

ANY OF THESE W-—LEVELS MAY BE SHOWN ON THE OPTIONAL
SHIPPING LABEL. ON THE END STILE.

,,,,,,,

12 GA. GALY. STEEL TRACK
BRACKET FASTENED TG WOOD
JAMB WITH ONE 5/16"x1-5/8"
WOOD LAG SCREW PER BRACKET.

2" GALV. STEEL TRACK

FASTENED TO TRACK BRACKETS.
EACH BRACKET ATTACHED WITH ONE
1/4"x5/8" BOLT & NUT QR

WO 1/4” RIVETS.

IN THE CASE OF GYPSUM WALLBOARD LQCATED AT OR HNEAR THE DOOR  OPENING
LOCATION THERE ARE TWQ ACCEPTABLE ALTERMATIVES:

1} THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SQUTHERN
YELLOW PINE WGOD JAMBS MOUNTED DIRECTLY TQ THE SUPPORTING STRUCTURE TO
CREATE THE MOUNTING SURFAGE. ALTERMNATIVELY, THE BRACKETS MAY BE ATTACHED
DIRECTLY TG THE SUPPORTING STRUCTURE. SEE DETAN. BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW,

2)IF THE WALLBOARD i3 NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOCD
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOL BUCK QVER SHALL BE
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAME ATTACHMENT
FASIENERS LISTED BELOW. HOWEVER, THE JAMEB ATTACHMENT FASTENERS MUST 8E OF
A SUFFICIENT INCREASED LENGTH 1O ACCOUNT FOR THE THICKNESS OF THE
WALLBOARD TQ ENSURE PROPER FASTENER EMBEDMENY WNTQ THE STRUCTURAL
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE.

,,,,,,,,

Stie CGCK ENGAG
GAGES
j —1/2" FROM EDGE INTO VERTICAL
TRACK. ONE
| NOTE: THE DESIGN OF THE SUPPORTING LOCK ON
i STRUCTURAL ELEMENTS SHALL BE THE EACH SIDE
A RESPONSIBILITY OF THE PROFESSIONAL OF RECORD CF DOOR.
: } FOR THE BUILDING OR STRUCTURE AND i
ACCORDANCE WITH CURRENT BUILDING CODES FOR INSIDE_SLIDE BOLT
@ THE LOADS LISTED ON THIS DRAWNG. 1OCK_OPTION
p ¢ ORIGINAL DRAWINGS ARE SIGNED N BLUE
PREPARATION_QF JAMBS BY OTHERS, -

MK WTH A RASEC SEAL (EMBOSS).

VER AMB ATTACHMENT (W FRAME, BUSLDINGS):
3/8"x3" LAG SCREWS ON 19" CENTERS. 1—1/8" O.D, WASHER REQUIRED. LAG SCREWS

MAY SE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LCAD,

ALTACEEM

N B K OR X
ANCHOR BOLTS ON 17" CENTERS (2,000

) AL

Miy, CONCRETE COLUM
3/8"%3" SLEEVI PS| MIN, CONCRETE).

%

4 GA. INTERMEDIATE HING

STOP MOQULDING BY DOOR
INSTALLER (TO SUiT)

16 GA. MIN. GALV. STEEL END STILE

'3

:_\/’\._

7/18" PUSHNUT 14 GA. MIN. GALV. STEEL CENTER HINGE
INSTALLED ON FASTENED TO BACK OF DOOR W/(4)
ROLLER SHAFT FOR EACH #14x5/8" SHEET METAL SCREWS.
UNRESTRICTED
OPERATION.

14 GA, GALV. STEEL ROLLER HINGE FASTENED TO

END STILES W/(4) EACH #14x5/8" SHEET METAL

SCREWS AND (4) 1/4"x3/4" SELF TAPPING SCREWS.

2" 10 BALL SHORT STEM STEEL ROLLER WITH
STEEL. OR NYLON TIRE

SNAP LATCH ENGAGES
ONTO VERTICAL TRACK.
ONE SNAP LATCH ON
EACH SIDE OF DOOR.

INTER. STILE

END

: STHE |
INTER. QUTSIDE KEYED
N
STILE HANDLE £ND
STILE
LOCK BAR
%SCA;%ESNN INSIDE HANDLE
QUFSIDE EACH SIBE
HANDLE OF DOOR. QUISIOE KEYED LocK
$NAP (ATCHL LOCK_QPTION

PVC OVERLAYS ADHERED TO OQUTSIOE
SKIN WITH POLYUREYHANE ADHESIVE.

27 GA. S’%’EELGMiN.'INTERQOR & EXTERIOR SKIN WiTH
AND A BAKED-QN POLYESTER PAINTED TOP COAT,

o 1u3/8" THICK BASE COOR
~ 2" END STILE THICKNESS

—40 GALVANIZING, BAKED-ON PRIMER A
(4) #14x5/8" SHEET
METAL SCREWS.

ONE POUND DENSITY £XPANDED
POLYSTYRENE FOAM INSULATION
LAMINATED TO BOTH EXTERICR AND
INTERIOR SKINS

14 GA. GALV.
STEEL ROLLER
HINGE, SEE

TONGUE AND GROOVE JOINTS, BECTION C-C

U—BAR. WO U--BARS
PER DOOR SECTION.

13 GA. GALY., STEEL ATTACHED WITH (2)

BOTTOM BRACKET.
ATTACHED WITH (2)
#14x5/8" SHEET
METAL SCREWS.

LHR TOP BRACKET
. DOUHLE HORIZONTAL
TRACK

SCREW AT EACH HINGE,
LOCATION,

27 GA. STEEL. MIN.
INTERIOR SKIN WITH
G—40 GALV., BAKED-O
PRIMER AND A :
BAKED—ON POLYESTER
TOP COAT.

ALUMINUM EXTRUSION
& VINYL WEATHERSIRIP

12 GA. GALV. STEEL TOP
ROLLER BRACKET. EACH
BRACKET ATTACHED WITH

3"x 20 GA. GALV. STEEL

1/4"%3/4" SELF TAPPING

/87 SLERVE ANCHOR BOLTS O 17" G , DESIGN LOADS: +25.0 P.SF. & —25.0 PSF.
e ! ” " TEST LOADS: +37.5 P.SF. & —37.5 P.S.F.
SURFACE, HORIZONTAL JAMBS DO NOT TRANSFER LOAD. ‘ glnpay géggAEUi%' Lg]([)\lL?LEslicR}g{}CTs COMPANY o \/12/04 e — 160" x 160
: A TOS_161. A LIGEN " DESIGN ENGINEER: MARK WESTERFIELD, P.E. ' ———~ _
e R Rt A X Building Products | (513) 770-4800 T e gy 22 FF LS
TEXAS P.E. #91513 Company Clopay Carporation All Rights Reserved. R B B 103046 DI






